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(n=1,631) | (n=1,586) (n=3,155) | (n=2,967)
143 735 45.1 46.3 1,278 40.5 43.1
21332 851 52.2 53.7 1,689 53.5 56.9
45 2.8 - 188 6.0 -
1,631 100.0 100.0 3,155/ 100.0 100.0
AN  ra I Gap E o U dzs DZi A NB dz0p Z &
Q4 G2/
0' $( 1" $( 0" $( 1°' 4
(n=1,631) | (n=1,465) (n=3,155) | (n=2,571)
1)/E3 192 11.8 13.1 361 11.4 14.0
2|3 3 2 1,273 78.1 86.9 2,210 70.0 86.0
166} 10.2 - 584 18.5 -
1,631 100.0 100.0 3,155/ 100.0 100.0
AN ra /I 0ap E o U ND nj3 E NU 3 JE
Q4 G2/
0' $( 1" $( 0" $( 1°' 9
(n=1,631)| (n=862) (n=3,155) | (n=1,412)
1)/E3 251 15.4 29.1 362 11.5 25.6
21332 611 37.5 70.9 1,050 33.3 74.4
769 47.1 - 1,743 55.2 -
1,631 100.0 100.0 3,155/ 100.0 100.0
AN ra /I 0ap E o U ND 3
Q4 G2/
0' $( 1" $¢ 0" $( 1°' 9
(n=1,631) | (n=1,379) (n=3,155) | (n=2,431)
1/E3 550 33.7 39.9 943 29.9 38.8
21332 829 50.8 60.1 1,488 47.2 61.2
) 252 15.5 - 724 22.9 -
1,631 100.0 100.0 3,155/ 100.0 100.0
~ON ra i Gap F aUuxAU30 O G0U30035-28 d 5 DA A N
dz0pZz@0602-08 O ND nj3 E NO3ZBEDO18-08 O b3028- ¢
39 ‘ . _
~ G2/ 0 \ngu |l @ V/ADZES 2 3 |
R5
] 39.9
8 43.1
o DO o .
L] D5 6
{ 38.8
a
=
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N g p H dzi g Ha H a G039
Q4 G2/
0" $( 1" 3¢ 0" $( 1" 9
(n=1,631) | (n=1,575) (n=3,155) | (n=2,941)
1|£3 991 60.8 62.9 1,930 61.2 65.6
21332 584  35.8 37.1 1,011 32.0 34.4
) 56 3.4 - 214 6.8 -
1,631 100.0 100.0 3,155 100.0 100.0
W F D H dzi § Ha H a dzg DA A NB dz0p Z &
Q4 G2/
0" $( 1' $( 0' $( 1°'
(n=1,631) | (n=1,476) (n=3,155) | (n=2,641)
1 A£3 403 247 27.3 868 27.5 32.9
2|22 2 1,073 65.8 72.7 1,773 56.2 67.1
) 155 9.5 - 514 16.3 -
1631 100.0 100.0 3,155 100.0 100.0
W F D H dzi g Ha H a ND nj3 E NU 3 JE
Q4 G2/
0" $( 1" $¢ 0' $( 1§
(n=1,631)| (n=931) (n=3,155) | (n=1,666)
1 A£3 443  27.2 47.6 839 26.6 50.4
2|22 2 488  29.9 52.4 827 26.2 49.6
) 7000  42.9 - 1,489 47.2 -
1631 100.0 100.0 3,155 100.0 100.0
W E D H dzi g Ha H a ND 3
Q4 G2/
0" $( 1" $¢ 0" $( 1§
(n=1,631) | (n=1,390) (n=3,155) | (n=2,483)
1 A£3 896  54.9 64.5 1,532 48.6 61.7
2|22 2 494  30.3 35.5 951 30.1 38.3
) 241 14.8 - 672 21.3 -
1631 100.0 100.0 3,155 100.0 100.0
~0 F P H d“gHéH a xAU30 O GU30051-898 d'DZ
 Nbd2Upz@016-28 O NP nj3 E NO3ZPBED36-58 O B 3
Ua U330 ) ‘ o ,
~ G2/ U \noU Odz DA A NB dzOUp Z2@30av p NU3 D
62.9
R5
| 64.5
65.6
0 DIR)T s s
S B0
1 61.7
[}
=
AN a0q E EOAL ba @
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i £ U U3y
Q4 G2/
0" $( 1" 3¢ 0' $( 1°' 4
(n=1,631) | (n=1,553) (n=3,155) | (n=2,862)
1|£3 1,449 88.8 93.3 2,674 84.8 93.4
21332 104 6.4 6.7 188 6.0 6.6
) 78 4.8 - 293 9.3 -
1,631] 100.0 100.0 3,155/ 100.0 100.0
i g0 dz¢ DZi A NB dzUp Z &
Q4 G2/
0" $( 1" 3¢ 0" $( 1°' 4
(n=1,631)| (n=1,530) (n=3,155) | (n=2,816)
1{A£3 1,129 69.2 73.8 2,253 71.4 80.0
21332 401  24.6 26.2 563 17.8 20.0
) 101 6.2 - 339 10.7 -
1,631] 100.0 100.0 3,155] 100.0 100.0
A U ND nj3 E NU 3 PE
Q4 G2/
0" $( 1" 3¢ 0' $( 1°' 4
(n=1,631) | (n=1,286) (n=3,155) | (n=2,423)
1{£3 1,037 63.6 80.6 2,002 63.5 82.6
21332 249 15.3 19.4 421 13.3 17.4
) 345 212 - 7320  23.2 -
1,631] 100.0 100.0 3,155] 100.0 100.0
i g0 ND 3
Q4 G2/
0" $( 1" $¢ 0" $( 1°' 4
(n=1,631)| (n=1,420) (n=3,155)| (n=2,571)
1{£3 1,080 66.2 76.1 1,919 60.8 74.6
21332 3400  20.8 23.9 6520  20.7 25.4
) 2111 12.9 - 584 18.5 -
1,631] 100.0 100.0 3,155] 100.0 100.0
~0 r fU v xAUO30 O G030082-28 OdzwDZA_ NBAZUpzZoO
62-78 O NP nj3 E NU3ZZBEO7/-58 O NB 3065-08UaiU3
~ G2/ U \noU Odz D4 A Nb dzUp Z@dav p NI 3 D
R5
H2o DI 00 =
] 82.6 )
74.6 o
=]
a\ abq E EOL Ha &
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63

Q4 Q2/
0" $( 1" % 0" $(C 1" 9
(n=1,631) | (n=1,588) (n=3,155) | (n=2,947)
1 99g  61.2 62.8 1,783 56.5 60.5
2 500  36.2 37.2 1,164 36.9 39.5
43 2.6 - 208 6.6 -
1,631 100.0 100.0 3,155 100.0 100.0
dzé DA A Nb dz0p Z &
Q4 Q2/
0" $( 1" % 0" $( 1" 49
(n=1,631) | (n=1,483) (n=3,155) | (n=2,619)
1 2300 14.1 15.5 4120 131 15.7
2[ 1,253 76.8 84.5 2,207 70.0 84.3
148 9.1 - 536  17.0 -
1,631 100.0 100.0 3,155[ 100.0 100.0
Q4 Q2/
0" $( 1" % 0" $( 1" 49
(n=1,631)| (n=857) (n=3,155) | (n=1,415)
1 288  17.7 33.6 4220 134 29.8
2/ 569  34.9 66.4 993 315 70.2
774 475 - 1,740 55.2 -
1,631 100.0 100.0 3,155[ 100.0 100.0
Q4 Q2/
0" $( 1" % 0" $(C 1" 9
(n=1,631) | (n=1,382) (n=3,155) | (n=2,452)
1 816l  50.0 59.0 1,385 43.9 56.5
2[ 566 347 41.0 1,067 33.8 43.5
249 153 - 703 223 -
1,631 100.0 100.0 3,155[ 100.0 100.0
1-78 OdzwDAA NBdUpZ@004-48 ¢
) NBb3048-/8Ua0030;
O ADzESG 2 3§
62.8
1 59.0
: 60.5
-]
] 56.5
[m]
=
aNv aolaq EOA Ha @



OF1 3b° o HEC° GrZ3E®° G039
Q4 Q2/
0" $( 1" 3¢ 0" $( 1" 9
(n=1,631) | (n=1,589) (n=3,155) | (n=2,983)
1|£3 55.9 57.3 1,755 55.6 58.8
21332 41.6 42.7 1,228 38.9 41.2
2.6 - 172 5.5 -
1,631 100.0 100.0 3,155 100.0 100.0
OF1 3b° o HEC° 6o Z3 E° d7zs DA A NB dz0p Z &
Q4 Q2/
0" $( 1" 3¢ 0" $( 1" 9
(n=1,631) | (n=1,476) (n=3,155) | (n=2,587)
1£3 4.3 4.7 133 4.2 5.1
21332 1,406 86.2 95.3 2,454 77.8 94.9
9.5 - 568 18.0 -
1,631] 100.0 100.0 3,155/ 100.0 100.0
O0F1 3b° o HEC® §nZ3 E®° ND nj3 E NU 3 PE
Q4 Q2/
0" $( 1" 3¢ 0" $( 1" 9
(n=1,631) (n=805) (n=3,155) | (n=1,295)
1A£3 8.5 17.3 138 4.4 10.7
21332 40.8 82.7 1,157 36.7 89.3
50.6 - 1,860 59.0 -
1,631] 100.0 100.0 3,155/ 100.0 100.0
0FX1 3b° o HEC §nZ3 E®° ND 3
Q4 Q2/
0" $( 1" $¢ 0" $( 1" 9
(n=1,631) | (n=1,370) (n=3,155) | (n=2,441)
1A£3 31.9 38.0 838 26.6 34.3
21332 52.1 62.0 1,603 50.8 65.7
16.0 - 714 22.6 -
1,631] 100.0 100.0 3,155/ 100.0 100.0
~OT1 3b°oHE°60Z3E°xAU30 O G0U30046-208 OdzwDAA NbBd
pz@03-68 O ND nj3 E N EOG06-28 O ND3027-/0808
D i ‘ 3 B 3
~ G2/ U0 \ngoU O ND nj3 E NO3ZOBEDOaAM p 1NIU3G;
57.3
R5
17.3
] 38.0
58.8
-]
R30
] 34.3
O
=]
aNv aolaq EOA Ha @
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65

O Ugp vZ3E®©° G039
Q4 Q2/
0' $( 1" $( 0" $( 1" 9
(n=1,631) | (n=1,590) (n=3,155) | (n=2,984)
143 784 48.1 49.3 1,146 36.3 38.4
21332 806 49.4 50.7 1,838 58.3 61.6
) 41 2.5 - 171 5.4 -
1,631 100.0 100.0 3,155/ 100.0 100.0
© Ugp vZ3E° dzg DA A NB dz0p Z &
Q4 Q2/
0' $( 1" $( 0" $( 1°' 4
(n=1,631) | (n=1,451) (n=3,155) | (n=2,505)
1)/E3 166 10.2 11.4 227 7.2 9.1
21332 1,285 78.8 88.6 2,278 72.2 90.9
) 180) 11.0 - 650 20.6 -
1,631 100.0 100.0 3,155/ 100.0 100.0
e Ugp vZ3E?®° ND nj3 E NU 3 JE
Q4 Q2/
0' $( 1" $( 0" $( 1°' 9
(n=1,631)| (n=820) (n=3,155) | (n=1,328)
1)/E3 215 13.2 26.2 236 7.5 17.8
21332 605 37.1 73.8 1,092 34.6 82.2
) 811 49.7 - 1,827 57.9 -
1,631 100.0 100.0 3,155/ 100.0 100.0
© Ugp vZ3E?®° ND 3
Q4 Q2/
0' $( 1" $¢ 0" $( 1°' 9
(n=1,631) | (n=1,352) (n=3,155) | (n=2,388)
143 529 32.4 39.1 765 24.2 32.0
21332 823 50.5 60.9 1,623 51.4 68.0
) 279 17.1 - 767 24.3 -
1,631 100.0 100.0 3,155/ 100.0 100.0
~0 ugp 038-28 OdzwDZIA NBAUp Z¢
00-38 O 18 O NB3028-008Uoi0 U3
~ G2/ U di
49.3
R5
1 39.1
f 38.4
-]
R30
17.8
| 32.0
W]
=2
ay aldq E EOA Ha @



Q4 Q2/
0'$( 1' $ 0" $( 1" 4
(n=1,631) | (n=1,590) (n=3,155) | (n=2,984)
1{£3 297 18.2 18.7 381 12.1 12.8
21332 1,293 79.3 81.3 2,603 82.5 87.2
41 2.5 - 171 5.4 -
1,631 100.0 100.0 3,155 100.0 100.0
e [ V dz¢ DA A NB dz0p Z &
Q4 Q2/
0'$( 1'% 0" $( 1" 9
(n=1,631) | (n=1,419) (n=3,155) | (n=2,410)
1|/E3 21 1.3 1.5 42 1.3 1.7
21332 1,398 85.7 98.5 2,368 75.1 98.3
212 13.0 - 745 23.6 -
1,631 100.0 100.0 3,155 100.0 100.0
6 [ _V ND nj3 E NU 3 PE
Q4 Q2/
0'$( 1'% 0" $( 1" 9
(n=1,631)| (n=765) (n=3,155) | (n=1,232)
1|43 83 5.1 10.8 56 1.8 4.5
21332 6820  41.8 89.2 1,176 37.3 95.5
866 53.1 - 1,923 61.0 -
1,631 100.0 100.0 3,155 100.0 100.0
e £V ND 3
Q4 Q2/
0'$( 1'% 0" $( 1" 9
(n=1,631) | (n=1,331) (n=3,155) | (n=2,344)
1|/E3 299 18.3 22.5 424 13.4 18.1
21332 1,032 63.3 775 1,920 60.9 81.9
300 18.4 - 811 25.7 -
1,631 100.0 100.0 3,155 100.0 100.0
~0 f v xAU30 O (030007-68 OdzwDZiA_ Nbdz2Upz@0
0-48 O NPn3E NU3ZQEOO/-78 O ND3011-48U02003¢
~ G2/ U Vvng@guU O GU0U3@00 ND nj3 E NO3IFBEODOO NB 304
p 1NU3 D i
18.7
R5
] 22.5
12.8
-]
R30
} 18.1
[m]
=]
aNv aolaq EOA Ha @
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0' vidY®d G030

O
m

Q4 ° Q2/
0" $( 1" $¢( 0" $( 1" 9
(n=1,631) | (n=1,583) (n=3,155) | (n=2,968)
1 1,075 65.9 67.9 2,028 64.3 68.3
21332 508 31.1 32.1 940 29.8 31.7
) 48 2.9 - 187 5.9 -
1,631 100.0 100.0 3,155 100.0 100.0

O
_'_ﬂ

U' vudo YO dz DA A NDH dzUp Z &

Q4 Q2/
0' $( 1" %¢( 0' $( 1'4
(n=1,631) | (n=1,476) (n=3,155) | (n=2,588)

560 34.3 37.9 1,248 39.6 48.2

N |

332 916 56.2 62.1 1.340] 425 518

155 9.5 567 18.0

1,631] 100.0 100.0 3,155] 100.0 100.0

O U vudYOD ND nj3E ND3ZOE
Q4 Q2/
0" $( 1" 3¢ 0' $( 1" 3§
(n=1,631)[ (n=992) (n=3,155) | (n=1,865)
= 531 32.6 53.5 1,131 35.8 60.6
2332 461 283 46.5 734 233 39.4
) 639  39.2 - 1,290  40.9 -
1,631]  100.0 100.0 3,155 100.0 100.0
O r0'vidYOD ND 3
Q4 Q2/
0" $( 1" $¢ 0' $( 1" 3§
(n=1,631) [ (n=1,354) (n=3,155) | (n=2,431)
= 789  48.4 58.3 1,612 51.1 66.3
2332 565  34.6 41.7 819  26.0 33.7
) 277 17.0 - 724 229 -
1,631]  100.0 100.0 3,155 100.0 100.0
U O U vudYOxAU30 O GU30056-808 OdzwDAA  NE
026-806 O NP n3E NUOZPBEO42-408 O NB 3047- 28
2/ 0 VngU nQUa p NU 3 Ji
{ 67.9
R5
i B 68.3
2 DI - .
] 6046
] 66.3
]
=
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cu
Cx
(N

D

68

Q4 G2/
0' $( 1" $( 0" $( 1
(n=1,631) | (n=1,584) (n=3,155) | (n=2,963)
143 1,317 80.7 83.1 2,410 76.4 81.3
21332 267 16.4 16.9 553 17.5 18.7
) 47 2.9 - 192 6.1 -
1,631 100.0 100.0 3,155/ 100.0 100.0
E dz¢ DA A NB dz0p Z &
Q4 G2/
0" $( 1" $(¢ 0" $( 1
(n=1,631) | (n=1,491) (n=3,155) | (n=2,651)
1)/E3 258 15.8 17.3 393 12.5 14.8
21332 1,233 75.6 82.7 2,258 71.6 85.2
) 140 8.6 - 504 16.0 -
1,631 100.0 100.0 3,155 100.0 100.0
E ND nj3 E NU 3 JE
Q4 G2/
0" $( 1" $(¢ 0" $( 1
(n=1,631)| (n=879) (n=3,155) | (n=1,434)
1)/E3 268 16.4 30.5 351 11.1 24.5
21332 611 37.5 69.5 1,083 34.3 75.5
) 752 46.1 - 1,721 54.5 -
1,631 100.0 100.0 3,155 100.0 100.0
s ND 3
Q4 G2/
0' $( 1" $(¢ 0" $( 1
(n=1,631) | (n=1,392) (n=3,155) | (n=2,475)
143 792 48.6 56.9 1,432 45.4 57.9
21332 600 36.8 43.1 1,043 33.1 42.1
) 239 14.7 - 630 21.6 -
1,631 100.0 100.0 3,155 100.0 100.0
~ G F xAU0U30 O 2072-068 OdzwDZiA NBdz2UpZ@O06- 2
@) Np nj3 E NU 3 QE 48 O  NbB3O45-808Ua0U030;
~ 2 G2/ U0 VvnoU O i3 E NUO3ZOBEOaAvM p 1NU3G;
83.1
R5
] 56.9
R30
! 57.9 g
=]
aNv aolaq EOA Ha @




3 FU vHdOOM "~ m’ U3y
Q4 G2/
0" $( 1" $¢( 0" $( 1°' 9
(n=1,631) | (n=1,584) (n=3,155) | (n=2,943)
1 /A£3 1,333 81.7 84.2 2,611 82.8 88.7
21332 251 15.4 15.8 332 10.5 11.3
) 47 2.9 - 212 6.7 -
1,631 100.0 100.0 3,155 100.0 100.0
3 0 vHOAOmM -~ m>  dz D& A NB dzUp Z &
Q4 G2/
0" $( 1" $¢( 0" $( 1°'
(n=1,631) | (n=1,497) (n=3,155) | (n=2,733)
1|/E3 906 55.5 60.5 1,867 59.2 68.3
21332 591 36.2 39.5 866 27.4 31.7
) 134 8.2 - 422 13.4 -
1,631 100.0 100.0 3,155 100.0 100.0
3 ;U vAdOO M " m’ ND nj3 E NO3IJE
Q4 G2/
0" $( 1" $¢( 0" $( 1°'
(n=1,631) | (n=1,157) (n=3,155) | (n=2,205)
11£3 755 46.3 65.3 1,495 47.4 67.8
21332 402 24.6 34.7 710 22.5 32.2
) 474 29.1 - 950 30.1 -
1,631 100.0 100.0 3,155 100.0 100.0
3 f0 vHOOmM "~ m’ ND 3
Q4 G2/
0' $( 1" 3%¢( 0' $( 1" 9
(n=1,631) | (n=1,389) (n=3,155) | (n=2,486)
11£3 957 58.3 68.5 1,883 59.7 75.7
21332 438 26.9 31.5 603 19.1 24.3
) 242 14.8 - 669 21.2 -
1,631 100.0 100.0 3,155 100.0 100.0
~0 FU vH3OmM "m xAU30 O dU030073-18 OdzwDAA NE
2005/ - 49 O"N.Dr]jSE NJJ3®I§O§4—26 O NB 3057-48U¢8
~ G2/ U \Vn@gu njQuUa p NI 3 i
84.2
R5
R0 T Y 8.3 =
T | 67.8
75.7
m]
B
aNv aolaq EOA Ha @

69



Q4 G2/
0" $( 1" 3¢ 0" $( 1" 4
(n=1,631) | (n=1,590) (n=3,155) | (n=2,978)
143 318 19.5 20.0 541 17.1 18.2
21332 1,272 78.0 80.0 2,437 77.2 81.8
) 41 2.5 - 177 5.6 -
1,631 100.0 100.0 3,155 100.0 100.0
\ F°EoHOOODBGaudYOD d7s DA A NB dzUp Z @
Q4 G2/
0" $( 1" 3¢ 0" $( 1" 9
(n=1,631) | (n=1,429) (n=3,155) | (n=2,425)
1|/E3 86 5.3 6.0 154 4.9 6.4
21332 1,343 82.3 94.0 2,271 72.0 93.6
) 202 12.4 - 730 23.1 -
1,631] 100.0 100.0 3,155] 100.0 100.0
" A EFE°EoHb6ODB GauodvYOD ND nj3 E NU 3 JE
Q4 G2/
0" $( 1" 3¢ 0" $( 1" 4
(n=1,631)| (n=797) (n=3,155) | (n=1,295)
143 140 8.6 17.6 175 5.5 13.5
21332 657 40.3 82.4 1,120 35.5 86.5
) 834 51.1 - 1,860 59.0 -
1,631] 100.0 100.0 3,155] 100.0 100.0
v E°EoHOOOD®Gaud YO ND 3
Q4 ° G2/
0' $( 1" $¢ 0" $( 1" 9
(n=1,631) | (n=1,339) (n=3,155) | (n=2,330)
1|/E3 506 31.0 37.8 957 30.3 41.1
21332 833 51.1 62.2 1,373 43.5 58.9
) 292 17.9 - 825 26.1 -
1,631] 100.0 100.0 3,155] 100.0 100.0

\ E°EoOH0OOD®GaUdYOxAU30U O GU3001/-/8 Odz
NB dz20p2@05-/3 O NDPn3E NO3ZPEOO06-58 O ND 2
70020030 .
G2/ U \ngu |l @ V/ADZES 2 3 |
20.0
R5
17.6
{ 37.8
rso NN 64 .
135
] 41.1
[}
=
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A AZ3E° 1039
Q4 G2/
0" $( 1" $¢( 0" $( 1°' 9
(n=1,631) | (n=1,576) (n=3,155) | (n=2,923)
1 1,436 88.0 91.1 2,770 87.8 94.8
21332 140 8.6 8.9 153 4.8 5.2
) 55 3.4 - 232 7.4 -
1,631 100.0 100.0 3,155 100.0 100.0

y A _AZ3E° dz D& A NB dzUp Z &
Q4 G2/
0" $( 1" 3¢ 0" $( 1°' 4
(n=1,631) | (n=1,524) (n=3,155) | (n=2,799)
1A 789 484 51.8 1,554 49.3 55.5
21332 735  45.1 48.2 1,245 39.5 44.5
) 107 6.6 - 356 11.3 -
1,631] 100.0 100.0 3,155] 100.0 100.0
y A AZ3E° ND nj3 E NU 3 JE
Q4 ° G2/
0" $( 1" 3¢ 0' $( 1°' 4
(n=1,631)| (n=1,081) (n=3,155) | (n=2,012)
1A 731  44.8 67.6 1,348 42.7 67.0
21332 350 215 32.4 664 21.0 33.0
) 5500  33.7 - 1,143 36.2 -
1,631] 100.0 100.0 3,155] 100.0 100.0
y A AZ3E° ND 3
Q4 G2/
0" $( 1" $¢ 0" $( 1°' 4
(n=1,631)| (n=1,418) (n=3,155) | (n=2,531)

1{A 1,254 76.9 88.4 2,279 72.2 90.0
2332 164 10.1 11.6 252 8.0 10.0
) 213 13.1 624 19.8

1,631] 100.0 100.0 3,155| 100.0 100.0
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5 0 0.0 0.0 0 0.0 0.0
6 1 0.4 0.6 1 0.2 0.3
92 37.1 - 168 335 -
248 100.0 100.0 501f 100.0 100.0
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2 - 3 3 A
Q4 G2/
0" $( 1" $¢( 0'"$( 1'4
(n=915)| (n=621) (n=1,891) | (n=1,270)
0 175 19.1 28.2 345 18.2 27.2
1 253 27.7 40.7 532 28.1 41.9
2 133 14.5 21.4 281 14.9 22.1
3 35 3.8 5.6 82 4.3 6.5
4 21 2.3 3.4 30 1.6 2.4
5 3 0.3 0.5 0 0.0 0.0
6 1 0.1 0.2 0 0.0 0.0
294 32.1 - 621 32.8 -
915 100.0 100.0 1,891 100.0 100.0
1
2
3
5.6 —
4 e (n=621)
. EH30
2.4 (n=1,270)
0.5
6 | 0.0
Y
2 - n A
Q4 G2/
0" $( 1" $¢( 0" $( 1" 9
(n=915)[ (n=695) (n=1,891) | (n=1,396)
0 126 13.8 18.1 240 12.7 17.2
1 258 28.2 37.1 491 26.0 35.2
2 203 22.2 29.2 450 23.8 32.2
3 57 6.2 8.2 141 7.5 10.1
4 41 4.5 5.9 69 3.6 4.9
5 9 1.0 1.3 5 0.3 0.4
6 1 0.1 0.1 0 0.0 0.0
220 24.0 - 495 26.2 -
915 100.0 100.0 1,891 73.8 100.0
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Sps 3 A

Q4 ° G2/
0" $( 1" $¢( 0' $( 1" 9
(n=523) (n=480) (n=922) (n=838)
0 14 2.7 2.9 22 2.4 2.6
1 21 4.0 4.4 66 7.2 7.9
2 59 11.3 12.3 134 14.5 16.0
3 51 9.8 10.6 81 8.8 9.7
4 331 63.3 69.0 529 57.4 63.1
5 4 0.8 0.8 6 0.7 0.7
6 0 0.0 0.0 0 0.0 0.0
43 8.2 - 84 9.1 -
523 100.0 100.0 922 100.0 100.0
2.9 BR5
1 ¥ 26 (n=480)
4.4
2 &] 7.9 EH30
12.3 (n=838)
3 5 16.0
. m oo
69.0
5
63.1
5 Io7
Yy
Sns 3 A /
Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=523)[ (n=489) (n=922)| (n=821)
02 0 0.0 0.0 0 0.0 0.0
03 1 0.2 0.2 0 0.0 0.0
04 2 0.4 0.4 3 0.3 0.4
05 53 10.1 10.8 69 7.5 8.4
06 208 39.8 425 396 43.0 48.2
07 169 32.3 34.6 292 31.7 35.6
08 56 10.7 11.5 61 6.6 7.4
) 34 6.5 - 101 11.0 -
523 100.0 100.0 9221 100.0 100.0
0.0 BR5
13 00 (n=489)
14 ! 0.2
0.0 EH30
15 | 0.4 (n=821)
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17

18

19
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Sps N A
04 G2/
0" $( 1" $¢( 0' $( 1°' 9
(n=523) (n=187) (n=922) (n=283)
0 15 2.9 8.0 22 2.4 7.8
1 27 5.2 14.4 62 6.7 21.9
2 33 6.3 17.6 52 5.6 18.4
3 21 4.0 11.2 25 2.7 8.8
4 90 17.2 48.1 119 12.9 42.0
5 1 0.2 0.5 3 0.3 1.1
6 0 0.0 0.0 0 0.0 0.0
336) 64.2 - 639 69.3 -
523 100.0 100.0 922 100.0 100.0
8.0 EBR5
1 B8 s (n=187)
14.4
2 R 21.9 EH30

(n=283)

Snps W A A
Q4 G2/

0" $( 1" $¢( 0'$( 1'4

(n=523)[ (n=209) (n=922)| (n=279)
02 0 0.0 0.0 0 0.0 0.0
03 0 0.0 0.0 0 0.0 0.0
04 0 0.0 0.0 2 0.2 0.7
05 13 2.5 6.2 7 0.8 2.5
06 75 14.3 35.9 115 125 41.2
07 82 15.7 39.2 122 13.2 43.7
08 39 7.5 18.7 33 3.6 11.8

) 314 60.0 - 643 69.7 -

523 100.0 100.0 922 100.0 100.0

13

14

15

16

17

18

19
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Q4 ° G2/

0" $( 1" $¢( 0' $( 1" 9

(n=78) (n=60) (n=150)| (n=106)
0 20 25.6 33.3 33 22.0 31.1
1 13 16.7 21.7 24 16.0 22.6
2 4 5.1 6.7 19 12.7 17.9
3 3 3.8 5.0 5 3.3 4.7
4 18 23.1 30.0 24 16.0 22.6
5 2 2.6 3.3 1 0.7 0.9
6 0 0.0 0.0 0 0.0 0.0

18 23.1 - 44 29.3 -

78] 100.0 100.0 150 100.0 100.0

3.3 BR5
6 EI0.9 (n=60)
7 0%0 B H30
(n=106)
n
Q4 G2/
0" $( 1" $¢( 0'$( 1'4
(n=78) (n=55) (n=150) (n=88)
0 18 23.1 32.7 33 22.0 37.5
1 12 15.4 21.8 22 14.7 25.0
2 8 10.3 14.5 16 10.7 18.2
3 2 2.6 3.6 4 2.7 4.5
4 14 17.9 25.5 13 8.7 14.8
5 1 1.3 1.8 0 0.0 0.0
6 0 0.0 0.0 0 0.0 0.0
23 29.5 - 62 41.3 -
78] 100.0 100.0 150 100.0 100.0

4 =38 BH30
] 255 (n=88)
mlg 14.8
"] .
6 oo
0.0
7 00
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Q4 ° G2/
0" $( 1" $¢( 0' $(
(n=15) (n=12) (n=81) (n=55)

0 3 20.0 25.0 12 14.8 21.8
1 3 20.0 25.0 13 16.0 23.6
2 1 6.7 8.3 7 8.6 12.7
3 1 6.7 8.3 5 6.2 .
4 3 20.0 25.0 18 22.2 32.7
5 1 6.7 8.3 0 0.0
6 0 0.0 0.0 0 0.0

3 20.0 - 26 32.1 -

15[ 100.0 100.0 81 100.0 100.0

Q4 G2/
0" $( 1" $¢( 0' $(
(n=15) (n=9) (n=81) (n=50)

0 1 6.7 11.1 18 22.2 36.0
1 5 33.3 55.6 9 11.1 18.0
2 0 0.0 0.0 12 14.8 24.0
3 0 0.0 0.0 1 1.2 .
4 2 13.3 22.2 10 12.3 20.0
5 1 6.7 11.1 0 0.0
6 0 0.0 0.0 0 0.0

6 40.0 - 31 38.3 -

15[ 100.0 100.0 81 100.0 100.0

11.1

55.6

BR5
(n=9)

5 - : EH30
(n=50)
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6-F1 3b°oHE° 6 Z3E®°

Q4 G2/
0' $( 1" %( 0" $( 1" 4
(n=6) (n=4) (n=14) (n=11)
0 2 33.3 50.0 3 21.4 27.3
1 0 0.0 0.0 1 7.1 9.1
2 1 16.7 25.0 2 14.3 18.2
3 1 16.7 25.0 0 0.0 0.0
4 0 0.0 0.0 5 35.7 45.5
5 0 0.0 0.0 0 0.0 0.0
6 0 0.0 0.0 0 0.0 0.0
2 33.3 - 3 21.4 -
6/ 100.0 100.0 14 100.0 100.0
50.0 ER5
1 3 (n=4)
0.0
2 mg, E@H30
' 250 (n=11)
3 BT
4 w 25.0
5 \\\\\\\'
455
0.0
6 0.0
0.0
T 00
6-FT1 3b°oHECdrZ3ES W
Q4 ~ G2/
0" $( 1" $¢( 0' $( 1" 9
(n=6) (n=4) (n=14) (n=8)
0 1 16.7 25.0 2 14.3 25.0
1 2 33.3 50.0 2 14.3 25.0
2 0 0.0 0.0 1 7.1 12.5
3 1 16.7 25.0 0 0.0 0.0
4 0 0.0 0.0 3 21.4 37.5
5 0 0.0 0.0 0 0.0 0.0
6 0 0.0 0.0 0 0.0 0.0
2 33.3 - 6 42.9 -
6/ 100.0 100.0 14 100.0 100.0
BR5
! (n=4)
2 B H30
(n=8)
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- OO0 H° ¢8 =
Q4 a "~ G2/ \' @ NJ
0 $( 1 $¢
(n=106) (n=74)
0 5 4.7 6.8
1 13 12.3 17.6
2 10 9.4 13.5
3 8 7.5 10.8
4 28 26.4 37.8
5 10 9.4 13.5
6 0 0.0 0.0
32 30.2 -
106 100.0 100.0
1 == 68
&R5
2 R 17.6 (n=74)
3 R 13.5
4 R 10.8
5 37.8
6 B 135
7 0.0
U - OdH° ¢8 W
Q4 a G2/ VaN
0" $( 1" $(
(n=106) (n=75)
0 6 5.7 8.0
1 12 11.3 16.0
2 14 13.2 18.7
3 8 7.5 10.7
4 23 21.7 30.7
5 12 11.3 16.0
6 0 0.0 0.0
31 29.2 -
106 100.0 100.0
1 E==m 80
BR5
2 s 16.0 (n=75)
3 I 187
4 EEEm 107
5 30.7
6 16.0
7 0.0
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0 a Ho UE 3
Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=265) (n=161) (n=515) (n=357)
0 61 23.0 37.9 96 18.6 26.9
1 40 15.1 24.8 132 25.6 37.0
2 36 13.6 22.4 77 15.0 21.6
3 4 1.5 2.5 16 3.1 4.5
4 18 6.8 11.2 35 6.8 9.8
5 1 0.4 0.6 0 0.0 0.0
6 1 0.4 0.6 1 0.2 0.3
104 39.2 - 158 30.7 -
265 100.0 100.0 515 100.0 100.0
1
2
3
¢ & 45 BR5
5 11.2 (n=161)
9.8
g 1 06 BH30
0.0 (n=357)
71 o%
O-1 Ho U E Ay
Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=265)[ (n=212) (n=515)] (n=353)
0 63 23.8 29.7 115 22.3 32.6
1 67 25.3 31.6 115 22.3 32.6
2 41 15.5 19.3 77 15.0 21.8
3 11 4.2 5.2 14 2.7 4.0
4 28 10.6 13.2 32 6.2 9.1
5 2 0.8 0.9 0 0.0 0.0
6 0 0.0 0.0 0 0.0 0.0
53 20.0 - 162 31.5 -
265 100.0 100.0 515 100.0 100.0
1
o 1.6
9.3
3 18
4 @S2 BR5
40 (=212)
5 13.2
m.l BH30
6 1 000-9 (n=353)
0.0
T 00
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ETE

Q4 G2/
0" $( 1" 3¢ 0" $( 1" 9
(n=523)|  (n=507) (n=922)|  (n=852)
1l v ET 0 EaAAk Nb3 113 21.6 22.3 219 238 25.7
2 v Eu o EAoal0g NP3 64 122 12.6 1300  14.1 15.3
3 nNg As 3 330 63.1 65.1 503 54.6 59.0
16 3.1 - 70 7.6 -
523 100.0 [ 100.0 922[ 100.0 [ 100.0
~ a & £ O nj @ Ea3054-0%p
G + 300 v EO 2 EaAAKE NB3O B 223
11-28U000030; G2/ U \VnjoU O A EOQ § 257
Eas/A& NB30av p NU 3G
~ & A &£ 060/ - 032-008p ¢ # BR5
30608 21011-368000G030 g2 (00
~ NB3 A A& ApO7 041-53 A S &H30
007 026-08p ¢ #20U030 153 (h=gs52)
m 65.1
ol /
Q4 G2/
0" $( 1" $¢( 0" $( 1" 9
(n=177)] (n=174) (n=349)| (n=344)
3 A1 17 9.6 9.8 23 6.6 6.7
4/ 8 4.5 4.6 14 4.0 4.1
5 A 3 1.7 1.7 13 3.7 3.8
6/ 8 4.5 4.6 31 8.9 9.0
7/ 24| 136 13.8 57 163 16.6
8 /A 39|  22.0 22.4 105  30.1 30.5
0/ A 75| 424 43.1 101  28.9 29.4
3 1.7 - 5 1.4 -
177] 100.0 [ 100.0 349 100.0 | 100.0

191

10

®R5
(n=174)

H30
(n=344)

22.4
cosaaaaaaoo: IS

[ ] .
29.4 431



ND 3 A/ /

Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=177)[ (n=173) (n=349)[ (n=344)
6 31 17.5 17.9 28 8.0 8.1
7 91 514 52.6 193 55.3 56.1
8 36 20.3 20.8 99 28.4 28.8
0/ 1 0.6 0.6 11 3.2 3.2
00 0 0.0 0.0 1 0.3 0.3
01 0 0.0 0.0 0 0.0 0.0
02 14 7.9 8.1 12 3.4 3.5
> 4 2.3 - 5 1.4 -
1771 100.0 100.0 349 100.0 100.0
7
8
9
10
11
0.0 BR5
12
0.0 (n=173)
13 E= 8t BH30
(n=344)
ND 3 A /
Q4 G2/
0' $( 1" $( 0" $( 1" 9
(n=177)[ (n=175) (n=349)| (n=346)
02 9 5.1 5.1 20 5.7 5.8
03 5 2.8 2.9 6 1.7 1.7
04 2 1.1 1.1 21 6.0 6.1
05 15 8.5 8.6 27 7.7 7.8
06 54 30.5 30.9 154 44.1 44.5
07 65 36.7 37.1 92 26.4 26.6
08 25 14.1 14.3 26 7.4 7.5
) 2 1.1 - 3 0.9 -
1771 100.0 100.0 349 100.0 100.0
5.1 EHR5
13 B 54 (n=175)
2.9
14 @H30
? 17 (n=346)

15

16

17

18

19

192



WIN [~

(=
v N
Cu Cx
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ox

w 1
O
Z 00 Qo
(@} &t
o~

¢
WWN >

O TWT o oa™

o
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Q4 G2/
0" $( 1" 3¢ 0" $( 1" 9
(n=523)[ (n=504) (n=922) (n=845)
37 7.1 7.3 66 7.2 7.8
23 4.4 4.6 61 6.6 7.2
444 849 88.1 718 77.9 85.0
19 3.6 - 77 8.4 -
523 100.0 | 100.0 922 100.0 | 100.0
Ea3077-0%p @R5
Nb 3 0 373 (n=504)
Il @ VAL
] 78  @H30
5-68p ¢ * (n=845)
/-1 8 A ] 4°
i 172

g 68.1
WY s 0

Q4 ~ G2/
0' $( 1" 3¢ 0' $( 1" 9
(n=60) (n=60) (n=127) (n=126)
3 AN- 3 5.0 5.0 6 4.7 4.8
4 A 1 1.7 1.7 0 0.0 0.0
5 1 1 1.7 1.7 5 3.9 4.0
6 / 3 5.0 5.0 10 7.9 7.9
7 A 6 10.0 10.0 20 15.7 15.9
8 / 12 20.0 20.0 34 26.8 27.0
0 34 56.7 56.7 51 40.2 40.5
0 0.0 - 1 0.8 -
60 100.0 100.0 127] 100.0 100.0
4 8 s (n=60)
s 1 BH30
0.0 (n=126)
. 17
440
5.0
T8
o g 10.0
15.9
20.0
o 27.0
s 56.7
10 40.5
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ND 3 A/ /

Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=60) (n=60) (n=127)] (n=126)
6 12 20.0 20.0 20 15.7 15.9
7 36 60.0 60.0 66 52.0 52.4
8 11 18.3 18.3 33 26.0 26.2
0/ 0 0.0 0.0 6 4.7 4.8
00 0 0.0 0.0 0 0.0 0.0
01 0 0.0 0.0 0 0.0 0.0
02 1 1.7 1.7 1 0.8 0.8
) 0 0.0 - 1 0.8 -
60l 100.0 100.0 127 100.0 100.0
20.0
7 B 59
g  Enmmmmmmmmmm 60.0
5.4
18.3
o By
0.0
10 3,48
0.0
11 0.0
BR5
12 3‘8 (n=60)
13 ) L7 BH30
08 (n=126)
ND 3 A A
Q4 G2/
0' $( 1" $( 0" $( 1" 9
(n=60) (n=60) (n=127)| (n=126)
02 2 3.3 3.3 4 3.1 3.2
03 1 1.7 1.7 2 1.6 1.6
04 2 3.3 3.3 7 5.5 5.6
05 4 6.7 6.7 7 5.5 5.6
06 16 26.7 26.7 55 43.3 43.7
07 26 43.3 43.3 35 27.6 27.8
08 9 15.0 15.0 16 12.6 12.7
) 0 0.0 - 1 0.8 -
60l 100.0 100.0 127 100.0 100.0
3.3 BR5
13 8 3, (n=60)
14 4§ 1_%'7 BH30
(n=126)
15 Bge
10 B
26.7
17 m 43.7
43.3

e
18 578

19 g 15.0
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195

10

Q4 G2/
0' $ 1" 9 0' $( 1" 9
(n=523) (n=507) (n=922) (n=837)
1 247 47.2 48.7 387 42.0 46.2
2 209 40.0 41.2 371 40.2 44.3
3 51 9.8 10.1 79 8.6 9.4
16 3.1 - 85 9.2 -
523 100.0 100.0 922 100.0 100.0
E0 2 E &
300 4 E3 =
auuU3di G2 e 46.2
\
~ 32-/0p ¢ +#
3u 41.2
~ 6-10 / m
00 B 3
BR5
g 10.1 (n=507)
g =EH30
94 (n=837)
Q4 ~ G2/
0 ' 9 1' 9 0' $( 1' 4
(n=456)| (n=453) (n=758)| (n=751)
3 AN- 6 1.3 1.3 4 0.5 0.5
4 A 2 0.4 0.4 3 0.4 0.4
5 A 9 2.0 2.0 14 1.8 1.9
6 / 28 6.1 6.2 34 4.5 4.5
7 A 81 17.8 17.9 127 16.8 16.9
8 / 132 28.9 29.1 278 36.7 37.0
0 195 42.8 43.0 291 38.4 38.7
3 0.7 - 7 0.9 -
456/ 100.0 100.0 758 100.0 100.0
1.3 BR5
4 ' 05 (n=453)
5 0.4 BH30
0.4 (n=751)
6 2.0
1.9
6.2
! 45
o) 17.9

16.9




ND 3 A/ /

Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=456) (n=451) (n=758) (n=752)
6 67 14.7 14.9 64 8.4 8.5
7 258 56.6 57.2 493 65.0 65.6
8 119 26.1 26.4 182 24.0 24.2
0/ 3 0.7 0.7 12 1.6 1.6
00 0 0.0 0.0 1 0.1 0.1
01 0 0.0 0.0 0 0.0 0.0
02 4 0.9 0.9 0 0.0 0.0
) 5 1.1 - 6 0.8 -
456 100.0 100.0 758 100.0 100.0
7
8
9
10
11
12 @8R5
(n=451)
13 0.0 & H30
(n=752)
ND 3 A /
Q4 G2/
0' $( 1°' $( 0" $( 1" 9
(n=456)[ (n=453) (n=758)| (n=751)
02 3 0.7 0.7 5 0.7 0.7
03 1 0.2 0.2 3 0.4 0.4
04 13 2.9 2.9 12 1.6 1.6
05 45 9.9 9.9 68 9.0 9.1
06 174 38.2 38.4 324 42.7 43.1
07 169 37.1 37.3 281 37.1 37.4
08 48 10.5 10.6 58 7.7 7.7
) 3 0.7 - 7 0.9 -
456 100.0 100.0 758 100.0 100.0
0.7 BR5
13 | o7 (n=453)
' 0.4 (n=751)

15

16

17

18

19
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Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
i (n=1,760) | (n=1,751) (n=3,173) | (n=3,123)
1 A A Nig _ 159 9.0 9.1 332 10.5 10.6
2|DZ DZ A Nig 850 48.3 48.5 1,639 51.7 52.5
3|Z DZA Nijs 3 589 33.5 33.6 914 28.8 29.3
4|D41 6 ¥ A Nja 3 153 8.7 8.7 238 7.5 7.6
) 9 0.5 - 50 1.6 -
1,760f 100.0 100.0 3,173] 100.0 100.0
~ODZDZAN@OUNGY p37-4$0 ¢ +# 01
UOZDZeANjp30p22-58$UalU30; "~ G2/ 3 106
njgdU OZDzANjpg30avM p 1NU3D '
i
52.5
B 336
5 993
BR5
B 87 (n=1,751)
76 BH30
(n=3,123)
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Q4 G2/
0" $( 1" $¢ 0" $( 1" 9
(n=1,760) | (n=1,738) (n=3,173) | (n=3,108)
1 Z0o 532 30.2 30.6 1,055 332 33.9
2|DZDZ Z 0 850  48.3 48.9 1,536 48.4 49.4
3][ZDzZeo b 00 297  16.9 17.1 421 133 13.5
ADZI 5 #9500 59 3.4 3.4 96 3.0 3.1
22 1.3 - 65 2.0 -
1,760/ 100.0 [ 100.0 3,173[  100.0 | 100.0
~ODzZDZZ0i060UN@®Y p37-8%04G ¢ #+ 30.6
id 2zGo60p2/-5%0e0030; G2/ 0 oy 330
U | @ VADZEGS o 3|
i R
S 494
17.1 BR5
g 135 (n=1,738)
BH30
3.4 (n=3,108)




(n=1,760) | (n=1,587)

1{4 43 2.4 65 2.0 2.3

2 483 27.4 1,259 39.7 44.1

3 1,053 59.8 1,522 48.0 53.3

4 5 0.3 7 0.2 0.2

5[¢ 3 0.2 1 0.0 0.0
173 9.8 319 10.1 -

1,760f 100.0 3,173] 100.0 100.0

O
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~ p55- 3% 57
g # cOp2/ -3
Us @ g G N | 23
agA
= 0
S 44,1
66.4
S 533
| 03
02 BR5
0.2 (n=1,587)
0.0 @H30
(n=2,854)
Q4 G2/
0" $( 0" $( 1" 4
(n=1,760) (n=3,173) | (n=2,834)
1l¢ 501 28.5 891 28.1 31.4
2 809 46.0 1,582 49.9 55.8
3 254 14.4 349 11.0 12.3
4 9 0.5 11 0.3 0.4
5[¢ 1 0.1 1 0.0 0.0
186 10.6 339 10.7 -
1,760 100.0 3,173 100.0 100.0
¢] M p40-38% a8
g 20-7%Uad '
o § Niag A 31.4
O _— =
55.8
m 61 ars
3123 (n=1,574)
| 0.6 BH30
| 0.4 (n:2,834)
0.1
0.0



Q4 G2/
0' $( 1" 9 0" $( 1" 4
(n=1,760) [ (n=1,475) (n=3,173) | (n=2,551)
1|4 b 71 4.0 4.8 164 5.2 6.4
2 p g ¢ 481 27.3 32.6 1,213 38.2 47.5
3 NaAs A ¢ 913 51.9 61.9 1,161 36.6 45.5
4 p g ¢ 5 0.3 0.3 11 0.3 0.4
5|4 b 5 0.3 0.3 2 0.1 0.1
285 16.2 - 622 19.6 -
1,760 100.0 100.0 3,173 100.0 100.0
~0 NAsA £OUn@v p50-831i BR5
g A p gp g g06p21-5 48 (n=1,475)
Us G2/ U \ngu ] g N 1 64
g p 1NU3J; EH30
= 326  (n=2,551)
S 475
B 61.9
455
0.3
0.4
03
0.1
04 G2/
0 $( 1 3¢ 0 $( 1 ¢
(n=1,760) | (n=1,473) (n=3,173) [ (n=2,533)
1|4 b 398 22.6 27.0 689 21.7 27.2
2 p g ¢ 792 45.0 53.8 1471 46.4 58.1
3 Nias A & 262 14.9 17.8 356 11.2 14.1
4 p g ¢ 16 0.9 1.1 15 0.5 0.6
5|4 s 5 0.3 0.3 2 0.1 0.1
287 16.3 - 640 20.2 -
1,760{ 100.0 100.0 3,173 100.0 100.0
~0 p g £OUnGv paz2-7%
g §UGAE p ¢ 16-/%$U0ai —_
30 \ njgu O g NjagA = 27.2
ek N30
s 550
58.1
17.8
§ BR5
14.1 (n=1,473)
| EH30
06 (n=2,533)
03
0.1

199



Q4 ° G2/
0' $( 1" $/¢( 0" $( 1°
(n=1,760) | (n=1,729) (n=3,173) | (n=3,130)
1 p 3 192 10.9 11.1 267 8.4 8.5
2 A 3400  19.3 19.7 576  18.2 18.4
3 | 825  46.9 47.7 1,365 43.0 43.6
I 4 298] 16.9 17.2 749 23.6 23.9
5 p 3 74 4.2 4.3 173 5.5 5.5
31 1.8 - 43 1.4 -
1,760 100.0 | 100.0 3,173 100.0 | 100.0
=0 p OUngv p36-6%$0 ¢ *# 3 1.1
O ppp 306po08-63%3Ua0U03Q8; " G2/ '
nou O ppp 306av p NU3G; 3 85
= 19.7
H 184
S 47.7
= 436
B8 17.2
= 939 RS
: 4.3 (n=1,729)
155 BH30
(n=3,130)
Fa- £ Y fFa U njj
) Fl ®e1z2rnARl ¢ &8 Wy
Q4 ° G2/
0" $( 1" 3¢ 0" $( 1°
(n=1,760) | (n=1,728) (n=3,173) | (n=3,147)
1|£3 1,249  71.0 72.3 2282 719 72.5
2332 34 1.9 2.0 80 2.5 25
iuAUGg3203 445 253 25.8 785 24.7 24.9
) 32 1.8 - 26 0.8 -
1,760 100.0 | 100.0 3,173] 100.0 | 100.0
~O0A&30UNG p61-2%0 ¢ =+ 3000 72.3
Ug32030p14-7%$0e0030; G2/ 0 \
U | @ V/AEDZEGS 3| 725
BR5
| 2.0 (n=1,728)
BH30
25 (n=3,147)
E 25.8
@ 24.9
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£l S x x ! we brnApl 8"y
Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
i} (n=1,760) | (n=1,731) (n=3,173) | (n=3,146)
1|4 Nig 1,304 74.1 75.3 2,001 65.9 66.5
2[A Nie/% 122 6.9 7.0 295 9.3 9.4
3 AUg3203 305 17.3 17.6 760 24.0 24.2
) 29 1.6 - 27 0.9 -
1,760 100.0 100.0 3,173 100.0 100.0
~OAN@OUNGY p64-23%0 ¢ +# 300t
AU§32830p06-58Ua0U3F; "~ G2/ U 753
U OANjgOavw p 1NU3G; : g
7.0 ®R5
i (n=1,731)
§ 9.4
BH30
(n=3,146)
E 17.6
§ 24.2

13 171 97 9.9 312l 98| 100
2332 752 427 | 434 | 1215| 383 | 38.8
3liu £0G 3203 809 46.0 | 467 | 1,601] 505 | 51.2
‘ 28 16 | - 45 14 | -
1,760 100.0 | 100.0 | 3173 1000 | 100.0
~OUuAUG320300UNGY p35-68%0 ¢ + S e1732)
3003320p32-3%0a0030; G2/ U g°° '
U"03320av p 1NU3Q; Y 00 SH
: (n=3,128)
m 43.4
XN 388
==
NN 54,
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G2/
0' $( 1" $( 0' $( 1' 9
(n=1,760) | (n=1,702) (n=3,173) | (n=3,053)
1/E3 1,323 75.2 77.7 2,601 82.0 85.2
21332 379 21.5 22.3 452 14.2 14.8
) 58 3.3 - 120 3.8 -
1,760| 100.0 100.0 3,173| 100.0 100.0
3 \ Z3E° (A D U a D dzé DA A NB dz0p 2 &
Q4 ° G2/ °
0' $( 1" $( 0' $( 1' 9
(n=1,760) | (n=1,619) (n=3,173) | (n=2,766)
1{AE3 344 19.5 21.2 558 17.6 20.2
21332 1,275 72.4 78.8 2,208 69.6 79.8
) 141 8.0 - 407 12.8 -
1,760| 100.0 100.0 3,173| 100.0 100.0
2 \ Z3E°Ua D ia D ND nj3 E NDO3DE
Q4 ° G2/ °
0' $( 1" 3¢ 0' $( 1' 4
(n=1,760) | (n=932) (n=3,173) | (n=1,519)
143 359 20.4 38.5 552 17.4 36.3
21332 573 32.6 61.5 967 30.5 63.7
) 828 47.0 - 1,654 52.1 -
1,760| 100.0 100.0 3,173| 100.0 100.0
3 \ Z3E° {a D 4 a D ND 3
Q4 G2/
0' $( 1" 3¢ 0' $( 1' 4
(n=1,760) | (n=1,462) (n=2,815) | (n=2,172)
143 667 37.9 45.6 747 26.5 34.4
21332 795 45.2 54.4 1,425 50.6 65.6
) 298 16.9 - 643 22.8 -
1,760] 100.0 100.0 2,815/ 100.0 100.0
-0 \ zsEcda  p 0a pr. xA030 0 103060
66-60 Odz DA A NDdzUpZ2@0010-18 O NPn3E NU3ZQJEO27
o N 3034-58Ua0U30; ~ G2/ U \nguU O NB 3O0avw p
U39;
o | 77.7
RS ey 212
......................... | 385
] 45.6
85.2
o AN 4, .
36.3 o)
=————— ¥ o
=]
ANV abq E EOLE (ba @
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n v 0 ND3IDp g GU3Q
Q4 G2/
0" $( 1" 3¢ 0' $( 1§
(n=1,760) | (n=1,701) (n=3,173) | (n=3,037)
1|4£3 633  36.0 37.2 1,268 40.0 41.8
2|332 1,068 60.7 62.8 1,769 55.8 58.2
59 3.4 - 136 4.3 -
1,760] 100.0 100.0 3,173 100.0 100.0
n v 0 N3 Gp A\ dz¢ DZi A ND dzUp Z @
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760) | (n=1,559) (n=3,173) | (n=2,598)
1|4£3 128 7.3 8.2 288 9.1 11.1
2|332 1,431 81.3 91.8 2,310 72.8 88.9
201 114 - 575  18.1 -
1,760/ 100.0 100.0 3,173] 100.0 100.0
n v 0 ND3IDp g ND nj3 E NU3ZIE
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760)|  (n=835) (n=3,173) [ (n=1,391)
1|43 184 105 22.0 303 9.5 21.8
2|33 2 651 37.0 78.0 1,088 34.3 78.2
925  52.6 - 1,782 56.2 -
1,760/ 100.0 100.0 3,173] 100.0 100.0
n v N3 Gp g NDB 3
Q4 G2/
0' $( 1" $¢( 0' $( 1" 3
(n=1,760) | (n=1,424) (n=3,173) | (n=2,329)
1|43 535  30.4 37.6 705  22.2 30.3
2|33 2 889 50.5 62.4 1,624 51.2 69.7
336  19.1 - 844  26.6 -
1,760/ 100.0 100.0 3,173] 100.0 100.0
~0 N N3 3P FV xAU30 O GU030026- 108 Odz D4A
dz20pz@07-18 O NDn3E NUO3@EO11-/8 O Nb3026-5
30i -~ G2/ 0 \noU O Nb30av p 1NU3D;
37.2
R5
] 37.6
H30 S 11 8
Lol 218
] 30.3
a
a
av aobdq E EOE ba @&
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1039

Q4 G2/
0" $( 1" 3¢ 0' $( 1" 3
(n=1,760) | (n=1,705) (n=3,173) | (n=3,043)
1|4£3 1,397 79.4 81.9 2,270 71.5 74.6
2|332 308 175 18.1 7731 244 25.4
) 55 3.1 - 130 4.1 -
1,760 100.0 100.0 3,173] 100.0 100.0
7 U vHO O ql | ql d7 DA A Nb dzUp 2 D
Q4 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,618) (n=3,173) | (n=2,705)
1|4£3 7920  45.0 48.9 971  30.6 35.9
21332 826  46.9 51.1 1,734 54.6 64.1
) 142 8.1 - 468  14.7 -
1,760] 100.0 100.0 3,173] 100.0 100.0
7 FU vHd G gl | ql ND nj3 E NU3ZGE
Q4 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,130) (n=3,173) | (n=1,728)
1A£3 672l 38.2 59.5 808 255 46.8
21332 458  26.0 40.5 9200  29.0 53.2
) 630, 35.8 - 1,445 455 -
1,760[ 100.0 100.0 3,173 100.0 100.0
7 U vHOb ql | ql ND 3
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760) | (n=1,471) (n=3,173) | (n=2,384)
1{A£3 791 449 53.8 1,113 35.1 46.7
21332 680 38.6 46.2 1,271 40.1 53.3
) 289 164 - 789  24.9 -
1,760[ 100.0 100.0 3,173 100.0 100.0
~0 U vHOOGql |l ql xAU30 O G030070-808 OdzwDL A NI
Upz@037-88 O NDn3E NO3ZOPEO48-48 O Nb3042-7
30; G2/ U0 VngU nQuUa p 1NU3J;
81.9
R5
=  74.6
H30 . 35.9 2
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N\ F°EoHb3O6ODBGaudYOD 1039

04 G2/
0" $( 1 $( 0 $(_ 1' 3
(n=1,760) | (n=1,702) (n=3,173) | (n=3,045)
1 432] 245 254 726 229 23.8
2 1270 72.2 74.6 2319 73.1 76.2
58 3.3 - 128 4.0 -
1,760 _100.0 | _100.0 3,173 100.0 | _100.0

\ F°EoH0O60ODAGaUDYD dz DA A Nb dzUp Z D
1

Q G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,551) (n=3,173) | (n=2,504)
1 128 7.3 8.3 147 4.6 5.9
2| 1,423 80.9 91.7 2,357 74.3 94.1
209 11.9 - 669 21.1 -
1,760 100.0 100.0 3,173 100.0 100.0

v EFo°EoH3O6ODBGaAUOdYOD ND nj3 E N 3 JE
Q4 G2/

0' $( 1" $¢( 0' $( 1" 9

(n=1,760)| (n=835) (n=3,173) | (n=1,323)

1 1771 101 21.2 176 5.5 13.3

2[ 658 374 78.8 1,147 36.1 86.7

925]  52.6 - 1,850 58.3 -
1,760[ 100.0 100.0 3,173  100.0 100.0

\ FE°EoHO60ODBGaudvYO ND 3
Q4 G2/

0" $( 1" $¢( 0" $( 1" 9

(n=1,760) | (n=1,427) (n=3,173) | (n=2,303)

1 585 33.2 41.0 733 23.1 31.8

2| 842 47.8 59.0 1,570 49.5 68.2

333 18.9 - 870 27.4 -
1,760 100.0 100.0 3,173 100.0 100.0

"V E°EOH0O60D®GaAUBYOxAU3U O d030014-38 Odz
NEdzUpZ@07-28 O NPn3E NU3Z@PEO10-18 O N
dUalU3Q; ~ G2/ U \ngU nQUa" p 1NU3GJ;
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R5
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ugp vZ3E°E o E G039
Q4 ~ G2/
0" $( 1" $¢( 0" $( 1" 3
(n=1,760) [ (n=1,704) (n=3,173) | (n=3,037)
1[£3 819  46.5 48.1 1,219 38.4 40.1
2[1332 885  50.3 51.9 1,818 57.3 59.9
) 56 3.2 - 136 4.3 -
1,760/ 100.0 100.0 3,173]  100.0 100.0
ugp vZ3E°E o E dzs DA A NDB dzUp 2 @
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760) | (n=1,566) (n=3,173) | (n=2,541)
1[£3 204 116 13.0 275 8.7 10.8
2[1332 1,362 77.4 87.0 2,266 71.4 89.2
) 194  11.0 - 632  19.9 -
1,760[ 100.0 100.0 3,173  100.0 100.0
ugp vZ3E°E o E ND nj3 E N3 B E
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760) | (n=849) (n=3,173) | (n=1,359)
1[£3 219 124 25.8 267 8.4 19.6
2|1332 6300 35.8 74.2 1,092 34.4 80.4
) 911] 51.8 - 1,814 57.2 -
1,760[ 100.0 100.0 3,173  100.0 100.0
igp vZ3E°E a E NB 3
Q4 G2/
0" $( 1" $¢ 0" $( 1" 4
(n=1,760) | (n=1,421) (n=3,173) | (n=2,291)
1{£3 481  27.3 33.8 610 19.2 26.6
2|1332 940 534 66.2 1,681 53.0 73.4
) 339]  19.3 - 882 2738 -
1,760[ 100.0 100.0 3,173]  100.0 100.0
O Ugp VZ3ECE :um =& ExAU30 O dU3¢0037-08 Odzw D2
NBdzUpz@002-/8 O NPpn3E NU3ZPEO14-78 O ND 3
2-78Ua0U30j G2/ U \VnguU noUa" p 31NU3D;
R5
] 33.8
40.1
=
H30
] 26.6 o
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AN abq E EOAE 0a &



0 E E 0ga U a gE G039
Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,705) (n=3,173) | (n=3,045)
1{/E3 1,354 76.9 79.4 2,372 74.8 77.9
21332 351 19.9 20.6 673 21.2 22.1
) 55 3.1 - 128 4.0 -
1,760 100.0 100.0 3,173 100.0 100.0
o) E E ga 0 & pE dzDZ A Nb dzUp 2 @
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760) | (n=1,599) (n=3,173) | (n=2,708)
1{/E3 273 15.5 17.1 429 13.5 15.8
21332 1,326 75.3 82.9 2,279 71.8 84.2
) 161 9.1 - 465, 14.7 -
1,760 100.0 100.0 3,173 100.0 100.0
o) E E ga 0 a fE ND nj3 E NO3IJE
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760)| (n=924) (n=3,173) | (n=1,501)
1{/E3 246 14.0 26.6 351 11.1 23.4
21332 678 38.5 73.4 1,150 36.2 76.6
) 836) 47.5 - 1,672 52.7 -
1,760 100.0 100.0 3,173 100.0 100.0
O E E 0ga 0 a fE ND 3
Q4 G2/
0' $( 1" $( 0' $( 1' 4
(n=1,760) | (n=1,460) (n=3,173) | (n=2,390)
1{/E3 518 29.4 35.5 771 24.3 32.3
21332 942 53.5 64.5 1,619 51.0 67.7
) 300 17.0 - 783 24.7 -
1,760 100.0 100.0 3,173 100.0 100.0
~0 F. E Uga 0 a pExAU30 O (0U30068-38 OdzDAiA
6dz0pZz@006-08 O NPn3E NOU3ZPEO15-58 O NB 3024
a0U30; ~ G2/ U \VngU nQUa" p 1NU3GJ;
79.4
R5
77.9
H30 NN 8
23.4
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ax aodq E EOL ba &
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O pU' ' vudYO GU39

Q4 G2/
0" $( 1" $¢( 0' $( 1§
(n=1,760) | (n=1,703) (n=3,173) | (n=3,058)

748 42.5 43.9 1,398 44.1 45.7

N |

955 54.3 56.1 1,660 52.3 54.3

57 3.2 115 3.6

1,760] 100.0 100.0 3,173 100.0 100.0

O FU' vuovY®d dz DA A NbgzUpzé

Q4 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,571) (n=3,173) | (n=2,559)
1 242 13.8 15.4 492 15.5 19.2
2| 1,329 75.5 84.6 2,067 65.1 80.8
189 10.7 - 614 19.4 -
1,760 100.0 100.0 3,173 100.0 100.0

O U vudVYd ND nj3 E NU3IJE
Q4 G2/

0' $( 1" $¢( 0' $( 1" 9
(n=1,760)|  (n=869) (n=3,173) | (n=1,501)
1 266 15.1 30.6 4740 14.9 31.6
2/ 603 34.3 69.4 1,027 32.4 68.4

891  50.6 - 1,672 52.7 -
1,760/ 100.0 100.0 3,173] 100.0 100.0

O rpU"'viudYOD ND 3
Q4 G2/

0" $( 1" $¢( 0'$( 1'4

(n=1,760) | (n=1,423) (n=3,173) | (n=2,310)

1 638 36.3 44.8 971 30.6 42.0

2|’ 785 44.6 55.2 1,339 42.2 58.0

337 19.1 - 863 27.2 -
1,760 100.0 100.0 3,173 100.0 100.0

~0 U O fpU0' vudoYOxAU30 O G030032-808 OdzwDAA NI
Upzow004-338 O NPn3E NU3ZGEO2/-58 O NB 3033- 7
30i G2/ U0 VnodU | o vADKGS 3
43.9
R5
| 44.8
45.7
]
H30
]
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OFf1 3b° o HE? 6 nZ3 E®° auz3y
Q4 G2/
0" $( 1" $¢( 0" $( 1" 3
(n=1,760) | (n=1,711) (n=3,173) | (n=3,025)
1[£3 900 51.1 52.6 1,793 56.5 59.3
2[1332 811l  46.1 47.4 1,232 38.8 40.7
) 49 2.8 - 148 4.7 -
1,760/ 100.0 100.0 3,173]  100.0 100.0
©6F71 3b° o HE° 6uZ3 E° d7 DA A NDB dzUp Z @
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760) | (n=1,573) (n=3,173) | (n=2,590)
1[£3 74 4.2 4.7 122 3.8 4.7
2|332 1,499 85.2 95.3 2,468 77.8 95.3
) 1871 10.6 - 583 18.4 -
1,760/ 100.0 100.0 3,173] 100.0 100.0
OF1 3b° o HEC G Z3 E®° ND nj3 E N 3 JE
Q4 G2/
0' $( 1" $¢( 0" $( 1" 9
(n=1,760)|  (n=817) (n=3,173) | (n=1,316)
1[£3 125 7.1 15.3 158 5.0 12.0
2[332 692 39.3 84.7 1,158 36.5 88.0
) 943  53.6 - 1,857 58.5 -
1,760/ 100.0 100.0 3,173] 100.0 100.0
OFf1 3b° o HEC G Z3E®° ND 3
Q4 G2/
0' $( 1" $¢( 0' $( 1" 3
(n=1,760) | (n=1,429) (n=3,173) | (n=2,293)
1|A£3 3790 215 26.5 474 14.9 20.7
2[332 1,050 59.7 73.5 1,819 57.3 79.3
) 331 18.8 - 880 27.7 -
1,760/ 100.0 100.0 3,173] 100.0 100.0
~OT1 3b°oHE° 60Z3E°xAU30 O GU30041-58 OdzwDAA NB
pz@03-68 O NDPn3E NU3Z@GEO04-28 O Nb3015-480
@i G2/ 0 VvnoU O ND nj3 E NO3ZBEDOOD NB30avM p 1 NJ
39i
52.6
R5
: 59.3
B
H30
B}
B8
A\ aOq E EOAL ba @
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e dzligo° j G003y

Q4 ° G2/
0" $( 1" $¢( 0' $( 1" 9
(n=1,760) [ (n=1,688) (n=3,173) [ (n=2,971)
143 1,526 86.7 90.4 2,699 85.1 90.8
21332 162 9.2 9.6 272 8.6 9.2
72 4.1 - 202 6.4 -
1,760 100.0 100.0 3,173 100.0 100.0
e dzli g o ° j dzg D4 A NB dz0p Z &
Q4 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,653) (n=3,173) | (n=2,867)
1AE3 1,283 72.9 77.6 2,251 70.9 78.5
21332 370 21.0 22.4 616 19.4 21.5
107 6.1 - 306 9.6 -
1,760 100.0 100.0 3,173 100.0 100.0
e dzi § 0 ° i ND nj3 E ND3IPE
Q4 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,359) (n=3,173) | (n=2,383)
1AE3 1,102 62.6 81.1 1,893 59.7 79.4
21332 257 14.6 18.9 490 15.4 20.6
401 22.8 - 790 24.9 -
1,760 100.0 100.0 3,173 100.0 100.0
e dzligo° i ND 3
Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,483) (n=3,173) | (n=2,465)
A3 596 33.9 40.2 975 30.7 39.6
21332 887 50.4 59.8 1,490 47.0 60.4
) 277 15.7 - 708 22.3 -
1,760 100.0 100.0 3,173 100.0 100.0

~Odz#tigo°j xAU30 O 603008/ -38 OdzDAA NBdUpZ@O66 -
O NPn3E NU3@EO70-08 O NE303/-18U000030; ~G
njgu | @ VAEDzZEG S 3|

90.4
R5
90.8
- NN s .
Sl ] 79.4
= ws -
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) Sps E F SpnsE a0z gy

Q4 G2/
0" $( 1" $¢( 0' $( 1" 9
(n=1,760) [ (n=1,702) (n=3,173) | (n=3,014)
143 1,646 93.5 96.7 2,909 91.7 96.5
2332 56 3.2 3.3 105 3.3 3.5
58 3.3 - 159 5.0 -
1,760 100.0 100.0 3,173 100.0 100.0
< Spnps E E_SpbsE dz DA A Nb dzUp 2@
04 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,637) (n=3,173) | (n=2,849)
1|/E3 808 45.9 49.4 1,243 39.2 43.6
2332 829 47.1 50.6 1,606 50.6 56.4
123 7.0 - 324 10.2 -
1,760 100.0 100.0 3,173 100.0 100.0
6 SnsE FE _SpbsE ND nj3 E NO3IGE
04 G2/
0' $( 1" $¢( 0' $( 1" 9
(n=1,760) | (n=1,120) (n=3,173) | (n=1,885)
1|/E3 698 39.7 62.3 1,025 32.3 54.4
2332 422 24.0 37.7 860 27.1 45.6
640 36.4 - 1,288 40.6 -
1,760 100.0 100.0 3,173 100.0 100.0
< Spnps E E _SpbsE ND 3
Q4 G2/
0' $( 1" $( 0" $( 1" 9
(n=1,760) | (n=1,466) (n=3,173) | (n=2,452)
A3 648 36.8 44.2 893 28.1 36.4
2332 818 46.5 55.8 1,559 49.1 63.6
294 16.7 - 721 22.7 -
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